PreCalculus
Unit 5: Analytic Trig Review
Solve each equation.

1) 4cos?x—3=0

3) sin(30) =—-1, 0<60<2m

5) sin () —1=0

7)4cos’x+4cosx—3=0, 0<x<2m

9) sinf=-0.2, 0<6<2m

Name

Date

2)2sin?x —sinx—3=0, 0<x<2m

4) V3+tan(20) =0, 0<x<2m

6)sec(x—§)=2, 0<x<2m

8) 2tan’x —tanx—6=0, 0<x<2m

10)tanx =5, 0<x<2m

Determine the exact value of each trigonometric function using a sum/difference and then again using a

half/double angle to verify.

7T
11) cos— 12) tan(

13) sin 2=
12



Prove each trigonometric identity.

14) tan 6 cot§ — sin?6 = cos?6 15) 4cos26 + 3sin?6 = 3 + cos?6
csco 1-sin@
16) = 17) sec*d — sec?6 = tan*6 + tan?6
1+cscf cos?6
sinf@+cos® cosBO-sinb . . .2 )
18) — = secHcsch 19) sin(a — B) sin(a + B) = sin®“ a — sin“ 8

sin 6 cos 6

) cos(20) _ cotf-1

20) cos(a + B) + cos(a — B) = 2cosa cos B Trsin(z8) — cotoi1



22) 1+s%n9 _ 1—s%n9 — 4tan O sec 23) 1-sinx _ cos.x
1-sin @ 1+sin 6 cosx 1+sinx
sin(a+B) _ tana+tanf cotf—tanf
) sin(a—-B) o tana —tanf 2 ) cot@+tand COS(ZQ)
(2] . 3n
26) tan— = cscf — cotf 27) sin <7+9) = —cos @
sin(x——
28) (—,ZT) = —cotx 29) sin’x + 2cot? (E — x) + cos?x + ——— = 2sec?x
cos(x—;) 2 cscxsinx



Solve each triangle.

30) B=82°b=17,c =15 31) c=36°%a=17,c=16

32) A=73°a=24,b =28 33) a=14,b=17,c = 25

34) a=12,b =15c =28 35) A=50°,b=8,c=6



